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Before commencing to answer, check that the Question Booklet has all the 100 questions (90 questions from
Discipline/Technical Aptitude, 10 Questions on General Awareness and there is no misprinting, overprinting and/or
any other shortcoming in it. If there is any shortcoming, intimate the same to your room invigilator and have it changed. No
complaint in this regard shall be entertained at any later stage.

Answer sheet will be processed by Electronic means. Hence, invalidation of answer sheet resulting due to folding or
putting stray marks on it or any damage to the answer sheet as well as incomplete/incorrect filling of the answer sheet will
be the sole responsibility of the candidate.

There is no negative marking for wrong answer.

Ask invigilator to sign on your admit card. If the same is not got signed by you, your candidature shall be liable to
be rejected.

This is an objective type test in which each objective question is followed by four responses serialled (1) to (4). Your task is
to choose the correct/best response and mark your response in the OMR Answer Sheet only as per the instructions
given and NOT in the Question Booklet.

Use Black/Blue Ball Point Pen for all your work on the OMR Answer Sheet. The ovals on the OMR Answer Sheet are to
be completely filled by Black/Blue Ball Point Pen only. ANSWERS ONCE GIVEN CAN NOT BE CHANGED.

DO NOT scribble or do rough work or make any stray marks on the Answer Sheet. DO NOT wrinkle or fold or staple it.

Use of Calculators, Slide rules, Mobiles, calculator watches or any such devices and any other study/reference material is
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Rough Work is to be done in the blank space provided in the Question Booklet, not on the OMR Answer Sheet. No other
paper will be allowed/provided for rough work.

10.

The Question Booklet will be in THREE SERIES (A, B, & C). You must write correct Question Booklet Series on your
OMR Answer Sheet.

11.

Return the complete Question Booklet and OMR Answer Sheet to the invigilator on completion of the test. Do not take this
Question Booklet or any part thereof or OMR Answer Sheet outside the examination room. Doing so is a punishable
offence.

12.

Take care that you mark only one answer for each question. If more than one answer is given by you for any question, the
same will not be evaluated. Cutting/overwriting the answers are not allowed. Further questions are bilingual
(Hindi/English). In case of any variation in Hindi Translation version, English version will be taken as final for
evaluation purposes.
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10.

GENERAL AWARENESS

A stone lying at the bottom of a pond appears to be at
a higher point than it actually is due to the phenomena
of:

(1) Diffraction of light
(3) Reflection of light

(2) Scattering of light
(4) Refraction of light

How many countries are members of the SAARC
organization?
(1) 10
(3) 8

(2) 9
(4) None of these

In history, the name of prince Khurram, came to be
known as:

(1) Jahangir
(3) Aurangzeb

(2) Shahjahan
(4) Akbar

Identify the wrong match:

(1) Haldia Port : West Bengal
(2) Tuticorin Port : Tamilnadu
(3) Kandla Port : Gujarat

(4) Mormugao : Andhra Pradesh

Who has been vested with power by the constitution to
permit any Member of Parliament who can not
adequately express himself/ herself in Hindi or in
English to address the House in his/her mother
tongue:

(1) Chairman of the Council of states or the person acting
as such in the house

(2) Speaker of the House of the people or the person
acting as such in the house

(3) Leader of the house

(4) Both (1) & (2)

Which of the following was not written by Kalidas?

(1) Kumar Sambhavam
(3) Meghdootam

(2) Laghujatakam
(4) Raghuvansham

The planet nearest to the Sun and closest to the Earth
are respectively:

(1) Venus and Mercury
(3) Jupiter and Venus

(2) Mercury and Venus
(4) Jupiter and Mercury

Uber cup and Thomas cup are associated with:

(1) Chess (2) Cricket
(3) Badminton (4) Table Tennis

“Do or Die” is associated with the following movement:

(1) Dandi
(3) Khilafat

(2) Non Cooperation
(4) Quit India

Who is the leader of the house presently in Rajya
Sabha:

(1) Arun Jaitley
(3) P.J.Kurien

(2) Ghulam Nabi Azad
(4) None of these
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1.

12.

13.

14.

15.

16.

17.

DISCIPLINE / TECHNICAL APTITUDE

W; and W, are the readings of two wattmeter to 11.

measure power of a 3 phase balanced load. The
reactive power drawn by load is:

(1) WitWo (2) Wi-Wo

(3) V3(W4+W2) (4) V3 (Wi-W2)

In moving coil instruments the scale used is: 12,

(1) Non linear scale
(3) Square Law scale

(2) Linear scale
(4) Log scale

Creeping is observed in: 13.

(1) Watthour meter
(2) Power factor meter
(3) Watt meter

(4) Ammeter

Error due to change in frequency in moving iron 14.

instruments may be reduced by using a/an:

(1) Induction coil

(2) Condenser of suitable value in parallel with swamping
resistance

(3) Condenser of suitable value in series with swamping
resistance

(4) Balancing circuit

Value of resistance Rag,Rec , Rca value is: 15.

A

Ras

10 10

c N B
Rec

(1) 5Q, 2.5Q, 50

(3) 50,50, 2.50

(2) 2.5Q, 50, 2.50
(4) 59,250,250

Equivalent resistance between Points AB is: 16.
20 10Q
AN~ A A B
4Qs 8Q 100 70
10Q
AAN- AN
0 k9]
(1) 150 (2) 8O
(3) 50 (4) 100
Battery current in the network is: 17.
6Q
AN
12V — 30
AN
40
(1) 30 Amp (2) 15 Amp
(3) 20 Amp (4) 5Amp
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A
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. M .
Rec
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A
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18.

19.

20.

21.

22,

23.

24,

An inductive motor may be made to generate electric
power by:

(1) Switching off its stator supply and running with a prime
mover

(2) Running it at a slip less than zero

(3) Running it at synchronous speed

(4) Running it in the direction opposite to that of rotating
field

In capacitor start, 1 phase motor:

(1) Current in the starting winding lead the voltage

(2) Current in the starting winding lags of the voltage

(3) Current in the starting winding in phase with voltage in
running winding

(4) None of the above

In a three phase wound rotor induction motor 3 phase
balanced supply is given to rotor and starting winding
is short circuited the rotor would:

(1) Notrun

(2) Run in direction of rotating field

(3) Run against the direction of rotating field
(4) Run at half the synchronous field

A conductor of length 1 meter moves at right angle to
uniform magnetic field of flux density 2.5 Wh/m* with
velocity of 10 M/s then the emf induced is:

(1) 0.25 volts
(2) 4 volts
(3) 25 volts
(4) 10 volts

Current carried by one of the two long parallel
conductor is doubled and their separation is also
doubled, force between them will be:

(1) Remains same

(2) Increases two fold
(3) Increases four folds
(4) Become half

Time constant of a R-C Circuit is defined as the time
during which capacitor charging voltage becomes

% of its value and capacitor charging
current becomes % of its value:

(1) 63, final, 37, initial
(2) 37, initial, 63, final
(3) 37, final, 63, initial
(4) 63, initial, 32, final

Hysteresis motor is based on principle of:

(1) Random variable magnetic flux
(2) Continuously revolving flux

(3) A pulsating magnetic flux

(4) Electromagnetic
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25.

26.

27.

28.

29.

30.

31.

32.

A D.C shunt generator delivers 100A at 200 volts. If its
shunt field resistance is 50 Q and armature resistance
is 0.05Q the emf generated will be:

(1) 195.2 volts
(2) 204.8 volts
(3) 205.2 volts
(4) 194.8

In a DC generator, sparking at brushes results due to:

(1) Winding distribution

) Armature reactance

(3) High contact resistance of the brushes
)

(4) Reactance voltage in coil undergoing communication.

Which of the following type of DC Generator gives
constant out-put voltage at all loads:

(1) Shunt generators

(2) Series generators

(3) Short shunt compound generators
(4) Level compound generators

Which of the following motor is non self-starting:

(1) DC series motor

(2) Slip ring induction motor

(3) Synchronus motor

(4) Squirrel cage induction motor

The rotor slots in an induction motor are usually not
quite parallel to shaft because it:

(1) Improves power factor
) Improves efficiency
(3) Helps the rotor teeth to remain under the station
) Help in reducing the tendency of the rotor teeth to
remain under the stator teeth.

Universal motor is a motor:

(1) Series

(2) Induction motor
(3) Shunt motor

(4) Synchronous motor

Direction of rotation of DC shunt motor can be
reversed by interchanging:

(1) The armature terminal only

(2) Either field or armature terminal
(3) The supply terminal

(4) The field terminals only

Use of starters in DC motors is necessary:

(1) To overcome back emf

(2) They are not self-starting

(3) To limit high initial current by inserting high resistance
(4) None of the above
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33.

34,

35.

36.

37.

38.

39.

40.

Scott connection is used to transform:

(1) Single phase supply in two phase supply

(2) Two phase unbalanced supply into three phase
balanced supply

(3) Three phase supply into two phase supply

(4) Two phase supply into single phase supply

Three phase transformers connection preferable for
step up operation is:

(1) Y=Y
2) Y-A
(3) A-Y
4) A-A

For short circuit test and open circuit test of
transformers the instruments are connects on:

(1) LV side and HV side respectively
(2) HV side and LV side respectively
(3) HV side only
(4) LV side only

In Merz Price differential protection of a Delta Star
transformer, the CTs are connected in primary and
secondary winding in a:

(1) Delta Star connection
(2) Star Star connection
(3) Star Delta connection
(4) Any of the above

A DC shunt motor is:

(1) Variable speed motor

(2) Adjustable speed motor

(3) Constant speed motar

(4) Constant speed adjustable speed motor

Speed of DC shunt motor is:

(1) Proportional to the square of armature current
(2) Inversely proportional to armature current

(3) Independent of armature current

(4) Directly proportional to armature current

In synchronous motor:

(1) The generated emf must always be less than terminal
voltage

(2) The generated emf must always more than terminal
voltage

(3) The generated voltage can be less than or greater
than terminal voltage

(4) None of these

While starting synchronous motor its field winding
should be:

(1) Kept open

(2) Connected to a DC source
(3) Connected to a AC source
(4) Kept short circuited
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42,

43.

44,

45,
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47.

48.

49,

In rush current of a transformers at no load is
maximum if the supply voltage is switched on:

(1) At zero voltage value
(2) At peak voltage value
(3) AtV/2 value

(4) At«3/2 voltage value

Phenomenon of arc interruption take place at:

(1) Zero voltage
(3) High current

(2) Zero current
(4) High voltage

By burden of Relay, we mean:

(1) volt amp rating of relay
) current rating of relay
(3) voltage rating of relay
) watt rating of relay

The lighting arrestor is conducted:

(1) In series with line
(2) Between line and earth
(3) To a pole near the line
(4) To circuit breaker

Shunt reactors are used in transmission lines for:

(1) Limiting Fault Current

(2) Limiting Fault Voltage

(3) Absrobing Reactive Power

(4) Absorbing High Voltage Surges

Corona Loss in a transmission Line is dependent on:
(1) Diameter of Conductor.

(2) Material of Conductor.

(3) Height of Conductor.

(4) None of the above.

Arching on the transmission line is prevented by
connecting a suitable:

(1) Circuit Breaker
(3) Inductor in neutral

(2) Protective relay
(4) Capacitor in neutral.

Mho Relay is inherently a:

(1) Directional Type

(2) Non Directional Type
(3) Un Directional Type
(4) None of these

In EHV lines the high voltage gradient at conductors is
reduced by:

(1) Two or more conductors per phase in close proximity
and increasing the spacing between phases.

(2) Transposing the line.

(3) Increasing the height of the supporting tower.

(4) Increasing the insulation between the conductors of
the same phase.
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50.

51.

52.

53.

54.

55.

56.

57.

In a common emitter amplifier the unbypassed emitter
resistance provides:

(1) Voltage shunt feedback
(2) Current series feedback
(3) Negative voltage feedback
(4) Positive current feedback

The power flow through a transmission line can be
increased by installing:

(1) Shunt capacitor
(3) Shunt Reactor

(2) Series Reactor
(4) Series Capacitor

Which of the following motors are used in d-c Traction
systems?

(1) dc series motor

(2) dc compound motors

(3) Both dc Series & compound motors
(4) None of these

In the circuit shown the current through 5 ohm resister is:

-
— &\
. J;\:?T .
VAAAS
1oL
(1) 0.1 (2) 0.4
(3) 0.2 (4) 0.5

If a current transformer has ratio 100:5 and ammeter
connected to its secondary reads 2.5Athe actual line
current is:

(1) 12.5A
(3) 50A

(2) 250A
(4) 0.125A

Transformers used in AC welding set is:

(1) Booster type

(2) Step up type

(3) Step down type

(4) Equal turn ratio type

If the iron core of a transformer is replaced by an air
core then the total iron loss in a transformer will:

(1) Increase

(2) Decrease

(3) Remain unchanged
(4) Become zero

Higher the Q of a series circuit:

(1) Greater is bandwidth

(2) Sharper its resonance

(3) Broader its resonance curve
(4) Narrower its pass-band
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51.

52.

53.

54.

55.

56.

57.
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58.

59.

60.

61.

62.

63.

64.

A distance relay is one whose operation is based on
measurement of:

(1) Length of feeder

(2) Distance of load centre from power station
(3) Impedance or reactance

(4) None of these

A 440 volts d.c. shunt motor has an armature
resistance of 0.5 Q and the shunt field resistance of
440 Q. If the no-load current is 2.5 A, the current
passing through the armature is:

(1) 880 A (2) 176 A
(3) 1.5A @) 1A

If supply frequency increases, the skin effect is:

(1) Decreased
(2) Remains same
(3) Increased
(4) None of these

In case of power measurement by two wattmeter
method in a balanced three phase system with a
purely inductive load:

(1) Both the watt-meters will indicate the same value with
same sign

(2) Both the watt-meters will indicate the same value with
opposite sign

(3) Both the watt-meters will indicate zero

(4) One wattmeter will indicate zero and the other will
indicate some nonzero value

The frequency of input voltage of a transformer is
increased keeping the magnitude of voltage
unchanged then:

(1) Both hysteresis and eddy current losses in the core
will decrease

(2) Hysteresis loss will increase but eddy current loss will
decrease

(3) Both hysteresis and eddy current losses in the core
will increase

(4) Hysteresis loss will decrease but eddy current loss will
increase

If the excitation of the synchronous generator fails, it
acts as a:

(1) Synchronous motor
(2) Synchronous generator
(3) Inductive motor

(4) Inductive generator

The efficiency of DC machine is maximum when the
variable loss is equal to the:

(1) Constant loss

(2) Square of constant loss

(3) The square root of constant loss
(4) Zero
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59.
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63.
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65.

66.

67.

68.

69.

70.

71.

72.

Energy stored in capacitor is:

(1) 12Qv (2) Qv
(3) 1/2¢CV (4) None of these
Nortan equivalent circuit for the network between A
and B is current source of ........ Amps with parallel
resistance of .......... Ohms :
QA

0 60
18V

T OB
(1) 2A,6Q (2) 2A,3Q
(3) 6A, 20 (4) BA,9Q

In case of ac circuit if source impedance is (R+jx)

maximum power transfer occurs when source
impedance is:

1 ; 2
(1) E(RHX) (2) R4X

(3) R+jX (4) None of these

In case of max power transfer voltage drop across R.
is:

20
WV o
+
sv() ; R
(1) 5Volts (2): 10 Volits
(3) 2 Volts (4) 2.5 Volts

Unit of conductivity is:

(1) mho/metre
(3) mho-metre

(2) Ohm-metre
(4) Ohm/metre

Ideal voltage source has:

(1) Zero internal resistance
(2) Infinity internal resistance
(3) High Internal Resistance
(4) Low Internal Resistance

Ideal current Source has:

(1) Zero internal resistance

(2) Infinity internal resistance
(3) High Internal Resistance
(4) Low Internal Resistance.

Shift resistor can be built by using .......... Flip flop:
(1) RST (2) JK
(3) D (4) (RST/JK/D)
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70.
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73.

74,

75.

76.

77.

78.

79.

80.

In Flemings left hand rule thumb always represents
direction of:

(1) Current flow

(2) Induced emp

(3) Magnetic field
(4) Mechanical force

Form factor is ratio of:

(1) Average / RMS value
(2) Average / peak value
(3) RMS/ average value
(4) RMS / Peak value

RMS value for half wave rectified current is 5 Amps, its
value for full wave rectification would be ampere:

(1) 1042
(2) 10/n
( ) 5

(4) 10N2

In Dynamometer type wattmeter, which type of the coil
is split into two parts:

(1) Pressure Coil

(2) Current Coil

(3) Pressure Coil and Current Coil both
(4) None of the above.

In a Zener diode:

(1) Forward voltage rating is high

(2) Sharp breakdown occurs at low reverse voltage
(3) Negative resistance characteristics exists

(4) None of the above

The configuration in which the voltage gain of
transistor amplifier is minimum is:

(1) CB configuration
(2) CC Configuration
(3) CE configuration

(4) Both (1) &(2)

An amplitude modulated wave is:

(1) The product of carrier and the modulated wave

(2) Sum of the carrier and its product with modulating
signal

(3) The sum of the carrier and the modulating wave

(4) The difference between the carrier and modulating
wave

The stator of an alternator is identical to that of a:

(1) DC generator

(2) 1 phase induction motor
(3) 3 phase induction motor
(4) Rosenberg generator
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74.

75.

76.

77.

78.

79.

80.
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81.

82.

83.

84,

85.

86.

A Lissajous patterns are used to measure:

(1) Voltage and frequency

(2) Frequency and Phase shift

(3) Frequency and amplitude distortion
(4) Amplitude and flux

A surge absorber reduces:

(1) Steepness and magnitude of the wave
(2) Steepness of the wave tail

(3) Magnitude of the wave

(4) Steepness of the wave

In which type of fault maximum short-circuit current
occurs:

(1) Three-phase faults to ground
(2) Double line fault to ground
(3) Single line fault to ground

(4) None of these

Thevenin's equivalent voltage as seen from the
terminal 1-2 for the circuit shown below is:

e
2040
A (1 o
B 7

(1) 15V

(2) 25V

(3) 5V

(4) 20V

A 4-pole three-phase induction motor has a

synchronous speed of 25 rev/s. The frequency of the
supply to the stator is:

(1) 50 Hz
(2) 100 Hz
(3) 25Hz
(4) None of these

In the circuit shown in figure, if i= 2A, then the value of
the battery voltage V will be?

i —s 050
LL-N“J
10 10
10
3
N ==
(1) 1v (2) 0.5V
(3) 2v (4) 0.25V
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82.

83.

84.

85.

86.
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87.

88.

89.

90.

91.

92,

93.

94.

If height of transmission tower is changed which of the
following parameters is likely to change:

(1) Resistance
(3) Capacitance

(2) Inductance
(4) None of the above

Power Dispatch through a transmission line can be
increased by:

(1) Installing series Capacitor
(2) Installing shunt Capacitor
(3) Installing Series Reactor
(4) Installing Shunt Reactor.

Increase in temperature of overhead transmission line
causes:

(1) Increase in stress and length.

(2) Decrease in stress and length.

(3) Decrease in stress but increase in length.
(4) None of the above.

Plug setting of a relay can be altered by varying:

(1) Number of Ampere Turns
(2) Air Gap of Magnetic Path
(3) Adjustable Backup Stop
(4) None of these.

The iron loss in a 10 kvA 240/100 V single phase
transformers is 100 watts. The maximum efficiency
occurs at full load when secondary current is 50
Amps, Copper loss in transformer will be:

(1) 100 W (2) 50w
(3) 25W (4) 10W

Transformer Oil should be free from moisture because
presence of moisture reduces:

(1) Density of oil

(2) Dielectric strength of oil

(3) The die electric losses of the transformer.
(4) The lubricating property of oil.

In a power supply system “Demand Factor” is defined
as:

(1
(2
(3
(4

Average Demand /Maximum Demand
Maximum Demand/Installed Capacity
Average Demand / Installed Capacity
Maximum Demand/Connected Load

— e e

Skin Effect:

(1) Increases the effective
Internal reactance.

(2) Reduces the effective resistance and effective internal
reactance.

(3) Increases the effective resistance but reduces the
effective internal reactance.

(4) Reduces the effective resistance but increases the
effective reactance.

resistance and effective
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95.

96.

97.

98.

99.

100.

Which of
resistance:

(1) Wheatstone
(3) Hay bridge

the following bridges measures DC 95

(2) Maxwell bridge
(4) Schering bridge

Node voltages Vaand Vg as shown in the circuit below 96.

are:

20 60 30

[

(1) 8/3V, 11/3V
(3) 1213V, 8/3V

Va ve

‘N\‘

20 2A

sl 20

SN
(2) 6/5V,11/3V
(4) None of these

Four voltage sources are connected in series as
shown in figure. The resultant voltage between
terminal a-b is:

d
l 12V
]: 5V
1w
:I: 6V
Ly
(1) 12V (2) eV (3) 5V (4) 8v
Find the node voltage Va: 98.
R1 R3

80

(1) 6V
(3) 425V

2) 12V
4) 3V

If the current in the armature of d.c series motor is 99.

reduced to 5%, the torque of the motor will become:
(1) 50% of the previous value

(2) 25% of the previous value

(3) 150% of the previous value

(4) 125% of the previous value

Unit of reluctance of magnetic circuit is: 10

(1) AT/m (2) Weber/m
(3) AT/Weber (4) H/im
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